

134



so that j is the integer r associated with u, 0, and n as in our definition of translation continuity. Thus for u in  $E_i$ 

(10) 
$$f(u + 2\pi r/n) = f_i(u + 2\pi r/n) = 1.$$

It is known [1] that  $|E_i|$ , the measure of  $E_i$ , exceeds  $2\pi - C\gamma_i$  so that  $|\liminf E_i| = 2\pi$ . Thus for almost every u, the equation (10) occurs infinitely often.

## References

- [1] R. P. Gosselin, On Diophantine approximation and trigonometric polynomials, Pacific J. Math. 9 (1959), pp. 1071-1081.
- [2] On the interpolation of L<sup>p</sup> functions by Jackson polynomials, Illinois J. Math. 5.3 (1961), pp. 467-473.
  - [3] Some integral inequalities, Proc. Amer. Math. Soc. 13 (1962), pp. 378-384.
- [4] J. Marcinkiewicz and A. Zygmund, Mean values of trigonometric polynomials, Fund. Math. 28 (1937), pp. 131-166.
- [5] A. C. Offord, Approximation to functions by trigonometric polynomials II, Fund. Math. 35 (1948), pp. 259-270.
  - [6] A. Zygmund, Trigonometrical series, vol. II, Cambridge, 1959.

Recu par la Rédaction le 5, 2, 1962

## On Vietoris mapping theorem and its inverse

by

## A. Białynicki-Birula (Warszawa)

**0.** We shall use Čech cohomology groups with coefficients in an arbitrary abelian group A. Let X, Y, T be compact Hausdorff spaces and let  $f: X \rightarrow Y$ ,  $g_1: X \rightarrow T$ ,  $g_2: Y \rightarrow T$  be continuous onto maps such that  $g_2f = g_1$ . In this paper we prove (Theorem 1) that if f induces isomorphisms of ith cohomology groups for i = 0, 1, ..., n and a monomorphism of the (n+1)st cohomology groups of fibres  $g_2^{-1}(x)$ ,  $g_1^{-1}(x)$ , for all  $x \in T$ , then f induces isomorphisms of ith cohomology groups for i = 0, 1, ..., n and a monomorphism of the (n+1)st cohomology groups of spaces Y and X. The result generalizes the well-known Vietoris-Begle theorem [1].

On the other hand, we show (Theorem 2) that if there exists a totally disconnected subset  $T_1 \subset T$  such that the fibres  $g_1^{-1}(x)$ ,  $g_2^{-1}(x)$  are (n+1)-acyclic for  $x \in T - T_1$  and f induces isomorphisms of ith cohomology groups of Y and X for i = 0, 1, ..., n, then f induces isomorphisms of ith cohomology groups of fibres  $g_2^{-1}(x)$ ,  $g_1^{-1}(x)$  for all  $x \in T$  and i = 0, 1, ..., n. In the last part we give some applications of the theorems connected with an Eilenberg-Kuratowski theorem [2].

- 1. All topological spaces considered here are Hausdorff. Let T denote a topological compact space.  $\mathcal{F}, \mathcal{G}, \mathcal{G}$  will denote sheaves of abelian groups. If  $\mathcal{F}$  is a sheaf over T and  $x \in T$ , then  $\mathcal{F}_x$  denotes the stalk of  $\mathcal{F}$  over x. For any abelian group A,  $A^T$  denotes the constant sheaf over T with stalks A. If  $U \subset T$ , then  $\Gamma(U, \mathcal{F})$  denotes the group of all cross-sections over U into  $\mathcal{F}$ . If  $d \in \Gamma(U, \mathcal{F})$ , then  $\overline{d}$  denotes the carrier of d, i.e., the subset of U composed of all  $x \in U$  such that  $d(x) \neq 0$ .  $\overline{d}$  is a closed subset of U. We shall write  $\Gamma(\mathcal{F})$  instead of  $\Gamma(T, \mathcal{F})$ . We say that  $\mathcal{F}$  has its support in  $U \subset T$  if  $\mathcal{F}_x = 0$  for any  $x \in T U$ .  $\mathcal{F}|U$  will denote the restriction of  $\mathcal{F}$  to U. It is known that, if  $\mathcal{F}$  is an injective sheaf and U is a closed subset of T, then  $\mathcal{F}|U$  is a soft sheaf. The T-th cohomology group of T-th with coefficients in T-tilded by T-tilded T-
- F, I, J will denote positive cochain complexes of sheaves. The mth sheaf of F will be denoted by  $F_m, m = 0, 1, ...$  If we write  $F_m \rightarrow F_{m+1}$ ,



we always have in mind the complex map of  $F_m$  into  $F_{m+1}$ . For any complex F of sheaves over T and  $U \subset T$ , F|U denotes the restriction of F to U.  $\Gamma(F)$  denotes the cochain complex of cross-sections corresponding to F. We denote by  $\mathcal{H}^m(F)$  and  $H^m(F)$  the mth cohomology group of F and  $\Gamma(F)$ , respectively.

Let  $\mathcal F$  be a sheaf and let F be a complex of sheaves over T. We shall say that  $\varepsilon$  is an augmentation of  $\mathcal F$  into F if  $\varepsilon$ :  $\mathcal F \to F_0$  is a homomorphism and  $0 \to \mathcal F \to F_0 \to F_1$  is exact. In this case  $\varepsilon$  induces isomorphisms  $\mathcal F \to \mathcal H^0(F)$ ,  $\Gamma(\mathcal F) \to H^0(F)$  and we shall often identify  $\mathcal F$  and  $\mathcal H^0(F)$ ,  $\Gamma(\mathcal F)$  and  $H^0(F)$  under these isomorphisms.

If  $\varepsilon\colon \mathcal{F} \to F_0$  is an augmentation, then the triple  $(\mathcal{F}, F, \varepsilon)$  will be called an augmented complex. If  $(\mathcal{F}', F', \varepsilon')$ ,  $(\mathcal{F}'', F'', \varepsilon'')$  are two augmented complexes, then any pair  $(\alpha, \alpha')$  composed of a homomorphism  $\alpha\colon \mathcal{F}' \to \mathcal{F}''$  and a homomorphism  $\alpha'\colon F' \to F''$  such that

$$egin{array}{ccc} \mathcal{F}' 
ightarrow F'_0 \ rac{a\downarrow}{\mathcal{F}''} 
ightarrow F'' \end{array}$$

is commutative will be called a homomorphism of  $(\mathcal{F}', F', \varepsilon')$  into  $(\mathcal{F}'', F'', \varepsilon'')$ .

If I is a complex of injective (soft) sheaves,  $\Re^{\ell}(I) = 0$  for i > 0, and  $\varepsilon: \mathcal{G} \to I$  is an augmentation, then  $(\mathcal{G}, I, \varepsilon)$  is called an *injective* (soft) resolution of  $\mathcal{G}$ . If  $\alpha: \mathcal{G} \to \mathcal{F}$  is a homomorphism,  $I^1$  is a complex of injective sheaves,  $(\mathcal{F}, I^1, \varepsilon_1)$  is an augmented complex and  $(\mathcal{G}, I, \varepsilon)$  is a soft resolution of  $\mathcal{G}$ , then there exists a homomorphism  $\alpha' \colon I \to I^1$  such that  $(\alpha, \alpha')$  is a homomorphism of  $(\mathcal{G}, I, \varepsilon)$  into  $(\mathcal{F}, I^1, \varepsilon_1)$ .  $\alpha'$  is determined uniquely up to homotopy. Hence  $\alpha$  induces unique homomorphisms

$$H^{i}(I) \rightarrow H^{i}(I^{1}), \quad i = 0, 1, ...$$

If  $(\mathcal{F},I,s)$  is an injective or soft resolution of  $\mathcal{F}$ , then  $H^i(I)=H^i(I,\mathcal{F})$  for  $i=0,1,\dots$ 

In the sequel, we shall often denote a homomorphism and the maps induced by the homomorphism by the same letter. Moreover, we shall often identify objects if a canonical isomorphism between them has been exhibited.

Let X, Y be compact spaces and let  $f: X \to Y$  be a continuous map of X onto Y. For every sheaf  $\mathcal F$  on X,  $\mathfrak f(\mathcal F)$  denotes the direct image (see, e.g., [3], p. 171) of  $\mathcal F$  under f. Let  $Y_1$  be a closed subset of Y and let  $X_1 = f^{-1}(Y_1)$ . Then

- (1)  $f(\mathcal{F})|Y_1 = f(\mathcal{F}|X_1)$  as functors on the category of sheaves over X;
- (2) there exists a canonical isomorphism

$$\gamma_f: \Gamma(Y_1, f(\mathcal{F})) \rightarrow \Gamma(X_1, \mathcal{F})$$
.

Hence, if F is a complex, then

(3) there exists a canonical isomorphism

$$\gamma_f: H^i(\mathfrak{f}(F)|Y_1) \rightarrow H^i(F|X_1), \quad i=0,1,...$$

In particular, taking  $Y_1 = (x)$ , where  $x \in Y$ , we find that

(4) there exists a canonical isomorphism

$$\gamma_f$$
:  $\mathcal{H}^i(\mathfrak{f}(F))_x \to H^i(F|f^{-1}(x))$ , for  $i = 0, 1, ...$ 

Let  $\mathcal{F}$  be a sheaf over X, let  $\mathcal{G}$  be a sheaf over Y and let  $\alpha \colon \mathcal{G} \to \mathfrak{f}(\mathcal{F})$  be a homomorphism. Let  $(\mathcal{F}, I, \varepsilon_1)$  and  $(\mathcal{G}, J, \varepsilon_2)$  be injective resolutions of  $\mathcal{F}$  and  $\mathcal{G}$ , respectively. It is known (see, e.g. [3], p. 172) that  $\mathfrak{f}$  is left exact and that  $\mathfrak{f}(\mathcal{G})$  is injective whenever  $\mathcal{G}$  is injective. Therefore  $(\mathfrak{f}(\mathcal{F}), \mathfrak{f}(I), \mathfrak{f}(\varepsilon_1))$  is an augmented complex,  $\mathfrak{f}(I)$  is a complex of injective sheaves and hence there exists a homomorphism  $\alpha' \colon J \to \mathfrak{f}(I)$  such that  $(\alpha, \alpha')$  is a homomorphism of  $(\mathcal{G}, J, \varepsilon_2)$  into  $(\mathfrak{f}(\mathcal{F}), \mathfrak{f}(I), \mathfrak{f}(\varepsilon_1))$ . In fact,  $\alpha'$  is determined uniquely up to homotopy.

Let  $Y_1$  be, as above, a closed subset of Y and  $X_1 = f^{-1}(Y_1)$ . Then  $(\alpha, \alpha')$  defines a homomorphism of  $(\mathcal{G}|Y_1, J|Y_1, \varepsilon_2)$  into  $(\mathfrak{f}(\mathcal{F})|Y_1, \mathfrak{f}(I)|Y_1, \mathfrak{f}(\varepsilon_1))$ , i.e., by (1) a homomorphism  $(\mathcal{G}|Y_1, J|Y_1, \varepsilon_2) \rightarrow (\mathfrak{f}(\mathcal{F}|X_1), \mathfrak{f}(I|X_1), \mathfrak{f}(\varepsilon_1))$ . The homomorphism induces maps

(5) 
$$a: \mathcal{H}^{i}(J|Y_{1}) \rightarrow \mathcal{H}^{i}(\mathfrak{f}(I|X_{1}))$$

$$\parallel \qquad \qquad \parallel \qquad \qquad \parallel$$

$$\mathcal{H}^{i}(J)|Y_{1} \quad \mathcal{H}^{i}(\mathfrak{f}(I)|Y_{1}) \qquad i = 0, 1, \dots$$

(6) a: 
$$H^{i}(J|Y_1) \rightarrow H^{i}(f(I|X_1))$$
 for  $i = 0, 1, ...,$ 

which do not depend on the choice of a'.

We know that

(7) 
$$H^{i}(J|Y_{1}) = H(Y_{1}, \mathcal{G}|Y_{1}),$$

$$H^{i}(\mathfrak{f}(I|X_{1})) \underset{\gamma_{i}}{\overset{\approx}{\longrightarrow}} H^{i}(I|X_{1}) = H^{i}(X_{1}, \mathcal{F}|X_{1})$$

since  $J|Y_1$ ,  $I|X_1$  are soft resolutions of  $\mathcal{G}|Y_1, \mathcal{F}|X_1$ , respectively. Hence (6) and (7) define a homomorphism

(8) 
$$h(a,j) \colon H^i(Y_1, \mathcal{G}|Y_1) \to H^i(X_1, \mathcal{F}|X_1) \quad \text{ for } \quad i = 0, 1, \dots$$

determined uniquely by  $\alpha$  and f.

Now let T be another compact space, let  $g \colon Y \to T$  be a continuous map of Y onto T and let g be the direct image functor defined on sheaves over Y and corresponding to g. Then g(a') is a homomorphism  $g(J) \to gf(I)$  and induces a homomorphism

(9) 
$$q(a): \mathcal{H}^i(q(J)) \to \mathcal{H}^i(qf(I)), \quad i = 0, 1, ...$$



The induced homomorphism does not depend on the choice of a' and is determined by a and g.

The following diagram is commutative:

$$\begin{split} \mathcal{H}^i & \big( \mathfrak{g}(J) \big)_x \underset{\gamma_g}{\longrightarrow} H^i \big( J | g^{-1}(x) \big) = H^i \big( g^{-1}(x), \, \mathcal{G} | g^{-1}(x) \big) \\ & \downarrow^{\mathfrak{g}(a)} \qquad \downarrow^{\mathfrak{g}'} \\ \mathcal{H}^i \big( \mathfrak{g}(I) \big)_x \qquad \downarrow^{\gamma_f} \\ & \qquad \qquad \qquad \qquad \downarrow^{\gamma_f} \\ H^i \big( I | f^{-1} g^{-1}(x) \big) = H^i \big( f^{-1} g^{-1}(x), \, \mathcal{F} | f^{-1} g^{-1}(x) \big) \,. \end{split}$$

Consider the second right spectral hyperhomology functor (see, e.g., [3], p. 146 and p. 173) of  $\Gamma_g((\Pi \Gamma_g)_r^{pq}(F), (\Pi \Gamma_g)^i(F)), r \ge 2$ . To simplify notation we shall denote  $(\Pi \Gamma_g)_r^{pq}$  by  $G_r^{pq}$  and  $(\Pi \Gamma_g)^i$  by  $G^i$ . The spectral sequences  $(G_r^{pq}(J), G^i(J)), (G_r^{pq}(f(I)), G^i(f(I)))$  and the homomorphism  $(G_r^{pq}(J), G^i(J)) \rightarrow (G_r^{pq}(f(I)), G^i(f(I)))$  induced by a' are determined uniquely by  $\mathcal{F}, \mathcal{G}, f, g$  and a since I, J, a' are determined uniquely up to homotopy. We shall denote the homomorphism of spectral sequences by  $a^*$ .

Notice that,  $G^i(f(I))$  and  $G^i(J)$  being as abelian groups (filtration not considered) we have

since gf(I), g(J) are complexes of injective sheaves (see, e.g., [3], p. 148, Remark 3).

Moreover, the following diagram is commutative:

(12) 
$$\begin{array}{c} G^{i}(J) \stackrel{\approx}{\underset{r_g}{\sim}} H^{i}(Y, \mathcal{G}) \\ \downarrow^{\alpha^{*}} & \downarrow^{h(\alpha, f)} \\ G^{i}(\mathfrak{f}(I)) \stackrel{\approx}{\underset{r_g}{\sim}} H^{i}(X, \mathcal{F}) \, . \end{array}$$

On the other hand,

$$egin{aligned} G_2^{pq}igl(f(I)igr) &= H^pigl(T,\, \mathcal{H}^qigl(\mathfrak{gf}(I)igr)igr)\,, \ G_2^{pq}(J) &= H^pigl(T,\, \mathcal{H}^qigl(\mathfrak{g}(J)igr)igr) \end{aligned}$$

(13) and  $\alpha^*$ :  $G_2^{pq}(J) \to G_2^{pq}(f(I))$  coincides with the map induced by  $g(\alpha)$ :  $\mathcal{H}^q(g(J)) \to \mathcal{H}^q(gf(I))$  defined in (9).

Consider the case where  $\mathcal{F} = A^X$ ,  $\mathcal{G} = A^F$  and a is the canonical map (see, e.g., [5], p. 151, Corollary) a:  $A^F \to f(A^X)$ . Then  $A^X | Y_1 = A^{Y_1}$ ,  $A^X | X_1 = A^{X_1}$ , where  $X_1 = f^{-1}(Y_1)$ , and a restricted to  $A^F | Y_1$  gives the

canonical map  $A^{Y_1} \rightarrow f(A^{X_1})$ . Let  $f^*$  be the homomorphism  $H^i(Y_1, A) \rightarrow H^i(X_1, A)$  i = 0, 1, ..., induced by f. It is known that

- (14)  $H^{i}(Y_{1}, A) = H^{i}(Y_{1}, A^{Y_{1}});$   $H^{i}(X_{1}, A) = H^{i}(X_{1}, A^{X_{1}}),$  for i = 0, 1, ..., and  $f^{*}$  coincides with  $h(\alpha, f).$
- 2. IEMMA 1. Let  $(E_r^{pq}, G^i)$ ,  $(F_r^{pq}, H^i)$ ,  $r \ge 2$ , be two cohomological spectral sequences, let  $\beta$  be a homomorphism of  $(E_r^{pq}, G^i)$  into  $(F_r^{pq}, H^i)$  and let n be an integer. Suppose that  $\beta \colon E_2^{pq} \to F_2^{pq}$  is an isomorphism for  $p \le 2(n+1-q)$ ,  $q \ne n+1$  and a monomorphism for p=0, q=n+1. Then  $\beta \colon G^i \to H^i$  is an isomorphism for i=0,1,...,n and a monomorphism for i=n+1.

**Proof.** We shall prove by induction on r that, for  $r \ge 2$ ,

(15)  $\beta \colon E_r^{pq} \to F_r^{pq}$  is an isomorphism for  $p \leq n+1-q+\frac{n+1-q}{r-1}$ ,  $q \neq n+1$  and a monomorphism for p=0, q=n+1.

If r=2, then this follows from our assumptions. Assume that  $\beta\colon E_k^{pq}\to F_k^{pq}$  is an isomorphism for  $p\leqslant n+1-q+\frac{n+1-q}{k-1},\ q\not=n+1$  and a monomorphism for  $p=0,\ q=n+1$ , where  $k\geqslant 2$ . We shall prove that  $\beta\colon E_{k+1}^{pq}\to F_{k+1}^{pq}$  is an isomorphism for  $p\leqslant n+1-q+\frac{n+1-q}{k},\ q\not=n+1$  and a monomorphism for  $p=0,\ q=n+1$ . It is easy to see that  $\beta\colon E_{k+1}^{0n+1}\to E_{k+1}^{0n+1}$  is a monomorphism. In order to prove the remaining part it suffices to show that  $p\leqslant n+1-q+\frac{n+1-q}{k}$  implies that

$$p+k \le n+1-(q-k+1)+rac{n+1-(q-k+1)}{k-1}\,, \qquad q-k+1 \ne n+1\,,$$
  $p-k \le n+1+(q-k-1)+rac{n+1-(q+k-1)}{k-1}\,, \qquad q+k-1 \ne n+1\,.$ 

But if  $p \leq n+1-q+(n+1-q)/k$  then

$$\begin{aligned} p+k &\leqslant n+1-(q-k+1)+\frac{n+1-q}{k}+1 \leqslant n+1-(q-k+1)+\frac{n+1-q}{k-1}+1 \\ &= n+1-(q-k+1)+\frac{n+1-(q-k+1)}{k-1} \,. \end{aligned}$$

The inequality  $q-k+1 \neq n+1$  is obvious.

$$p-k \leqslant n+1-(q+k-1)+\frac{n+1-q}{k}-1 \leqslant n+1-(q+k-1)+\frac{n+1-q}{k-1}-1$$

$$=n+1-(q+k-1)+\frac{n+1-(q+k-1)}{k-1}.$$



On the other hand, q+k-1=n+1 implies p-k=0. But it is easy to check that p=k, q=n+2-k do not satisfy the inequality  $p\leqslant n+1-q+(n+1-q)/k$ . Thus the proof of (15) is complete. Therefore, for all  $r\geqslant 2$ ,  $\beta\colon E_r^{pa}\to F_r^{pa}$  is an isomorphism for  $p\leqslant n+1-q$ ,  $q\ne n+1$ , and a monomorphism for p=0, q=n+1. Hence  $\beta\colon G^i\to H^i$  is an isomorphism for  $i=0,1,\ldots,n$  and a monomorphism for i=n+1.

THEOREM 1. Let X, Y, T be compact spaces and let  $f \colon X \to Y, g \colon Y \to T$  be continuous onto maps. Let A be an abelian group. Suppose that, for every  $x \in T$ ,  $f^* \colon H^i(g^{-1}(x), A) \to H^i(f^{-1}g^{-1}(x), A)$  is an isomorphism for i = 0, 1, ..., n, and a monomorphism for i = n+1. Then  $f^* \colon H^i(Y, A) \to H^i(X, A)$  is an isomorphism for i = 0, 1, ..., n and a monomorphism for i = n+1.

Proof. Take  $\mathcal{T}=A^X$ ,  $\mathcal{G}=A^Y$  and let  $\alpha$  be the canonical monomorphism  $\alpha\colon A^Y\to \mathfrak{f}(A^X)$ . We shall use the notation of part 1. Consider spectral sequences  $(G_r^{pq}(J),G^i(J)),\left(G_r^{pq}(\mathfrak{f}(I)),G^i(\mathfrak{f}(I))\right)$  and the homomorphism  $\alpha^*$  induced by  $\alpha$ . Then

(16)  $a^*$ :  $G_2^{pq}(J) \rightarrow G_2^{pq}(f(I))$  is an isomorphism for p = 0, 1, ..., q = 0, 1, ..., n and a monomorphism for p = 0, q = n + 1.

Indeed,  $G_2^{pq}(J) = H^p(\mathcal{H}^q(g(J)))$ ,  $G_2^{pq}(\mathfrak{f}(I)) = H^p(\mathcal{H}^q(\mathfrak{gf}(I)))$  and (by (13))  $a^*$ :  $G_2^{pq}(J) \to G_2^{pq}(\mathfrak{f}(I))$  is induced by  $\mathfrak{g}(a)$ :  $\mathcal{H}^q(\mathfrak{g}(J)) \to \mathcal{H}^q(\mathfrak{gf}(I))$  defined in (9). But, by (10), for  $x \in T$ , we have the commutative diagram

and  $h(a, f) = f^*$  is an isomorphism for q = 0, 1, ..., n and a monomorphism for q = n+1. Hence  $g(a): \mathcal{H}^q(g(J)) \to \mathcal{H}^q(gf(J))$  is an isomorphism for q = 0, 1, ..., n and a monomorphism for q = n+1. This implies (16). Now the theorem follows from Lemma 1, (11) and (12).

Remark. Using a similar method one can prove the following theorem:

THEOREM 1'. Let X, Y, T be compact spaces, let f:  $X \rightarrow Y$ , g:  $Y \rightarrow T$  be continuous onto maps and let A be an abelian group. Suppose that, for every  $x \in T$ ,  $f^*$ :  $H^i(g^{-1}(x), A) \rightarrow H^i(f^{-1}g^{-1}(x), A)$  is an isomorphism, for i = 0, 1, ..., n. Then  $f^*$ :  $H^i(Y, A) \rightarrow H^i(X, A)$  is an isomorphism for i = 0, 1, ..., n.

**3.** LEMMA 2. Let T be a compact space, let  $T_1$  be a totally disconnected subset of T and let  $\mathcal F$  be a sheaf over T that has its support in  $T_1$ . Then  $H^i(T,\mathcal F)=0$  for i>0.

Proof. Let  $\{U_i\}$  be a finite covering of T and let c be an i-cochain of this covering with coefficients in  $\mathcal{F}$ . Let  $\{V_j\}$  be a covering of T such that  $\overline{V}_i \subset U_j$ . Then  $\overline{V}_{j_0} \cap \ldots \cap \overline{V}_{j_t} \subset U_{j_0} \cap \ldots \cap U_{j_t}$ ,  $c(j_0, \ldots, j_t) \in \Gamma(U_{j_0} \cap \ldots \cap U_{j_t}, \mathcal{F})$ , its carrier  $\overline{c}(j_0, \ldots, j_t)$  is closed in  $U_{j_0} \cap \ldots \cap U_{j_t}$  and hence  $\overline{c}(j_0, \ldots, j_t) \cap \overline{V}_{j_0} \cap \ldots \cap \overline{V}_{j_t} \subset T_1$  is closed in T. Let  $c^*$  denote the i-cochain of the covering  $\{V_j\}$  which corresponds to c. Then the closure (in T) of the carrier of  $c^*(j_0, \ldots, j_t)$  is contained in  $T_1$ . Let  $T_0$  be the union of carriers of all cross sections  $c^*(j_0, \ldots, j_t)$ . Then  $T_0$  is 0-dimensional and we may choose a covering  $\{W_m\}$  of T refining  $\{V_j\}$  and such that  $W_k \cap W_l \cap T_0 = \emptyset$  for every  $k \neq l$ . It is easy to see that, if i > 0, then the cochain of the covering  $\{W_m\}$  corresponding to c is the zero cochain. Thus  $H^i(T,\mathcal{F}) = 0$  for all i > 0.

LEMMA 3. Let T,  $T_1$  be as in Lemma 2. Let  $\mathcal{F}$ ,  $\mathcal{G}$  be two sheaves over T and let  $\beta \colon \mathcal{F} \to \mathcal{G}$  be a homomorphism which induces an isomorphism for stalks over  $x \in T - T_1$ . Then the induced map  $\beta \colon H^i(T, \mathcal{F}) \to H^i(T, \mathcal{G})$  is an isomorphism for i > 1 and an epimorphism for i = 1.

Proof. First consider two cases

(a)  $\beta$  is a monomorphism. Then  $0 \to \mathcal{F} \to \mathcal{G} \to \mathcal{F}/\beta(\mathcal{G}) \to 0$  is exact and we have an exact sequence  $H^i(T,\mathcal{F}) \to H^i(T,\mathcal{G}) \to H^i(T,\mathcal{F}/\beta(\mathcal{G})) \to H^2(T,\mathcal{F}) \to \dots \to H^i(T,\mathcal{F}) \to H^i(T,\mathcal{G}) \to H^i(T,\mathcal{F}/\beta(\mathcal{G})) \to H^{i+1}(T,\mathcal{F}) \to \dots$  But  $\mathcal{F}/\beta(\mathcal{G})$  has its support in  $T_1$ . Hence it follows from Lemma 2 that  $H^i(T,\mathcal{F}/\beta(\mathcal{G})) = 0$ , for i > 0. Thus  $\beta \colon H^i(T,\mathcal{F}) \to H^i(T,\mathcal{G})$  is an isomorphism for i > 1 and an epimorphism for i = 1.

(b)  $\beta$  is an epimorphism. Then  $0 \to \ker \beta \to \mathcal{F} \to \mathcal{G} \to 0$  is exact,  $\ker \beta$  has its support in  $T_1$  and, considering the corresponding exact sequence of cohomology groups, we infer (as in (a)) that  $\beta \colon H^i(T,\mathcal{F}) \to H^i(T,\mathcal{G})$  is an isomorphism for  $i \geqslant 1$ .

The general case follows from (a), (b) and the remark that if  $\beta$ :  $\mathcal{F} \rightarrow \mathcal{G}$  is a homomorphism satisfying assumptions of the lemma, then  $\beta$  can be represented as a composition of an epimorphism and a monomorphism, both satisfying the assumptions.

LEMMA 4. Let T and  $T_1$  be as in Lemma 2. Let  $\mathcal{F}$ ,  $\mathcal{G}$  be two sheaves over T with support in  $T_1$  and let  $\beta\colon \mathcal{F}\to \mathcal{G}$  be a homomorphism. If the induced homomorphism  $\beta\colon \varGamma(T,\mathcal{F})\to \varGamma(T,\mathcal{G})$  is an isomorphism (monomorphism), then  $\beta\colon \mathcal{F}\to \mathcal{G}$  is also an isomorphism (monomorphism).

Proof. It suffices to prove that if  $\mathcal{F}'$  is a sheaf over T with support in  $T_1$ , then for every  $x \in T$  and  $a \in \mathcal{F}_x$ ,  $a \neq 0$ , there exists a cross-section over T through a. For every  $x \in T$ ,  $a \in \mathcal{F}_x$  there exists a neighbourhood V of x such that there exists a cross-section  $d_0$  through a over V. Let  $V_1$  be a neighbourhood of x such that  $\overline{V}_1 \subset V$ . Then the intersection of the carrier  $\overline{d}_0$  of  $d_0$  and  $\overline{V}_1$  is closed in T and contained in  $T_1$ , whence 0-di-



mensional. Moreover, if  $a \neq 0$  then  $x \in \overline{d}_0 \cap V_1$ . Hence there exists a neighbourhood  $V_2$  of x contained in  $V_1$  and such that  $\overline{V}_2 \cap \overline{(T-V_2)} \cap \overline{d}_0 = \emptyset$ . Now define

$$d(y) = \begin{cases} d_0(y) & \text{for} \quad y \in V_2, \\ 0 & \text{for} \quad y \in T - V_2; \end{cases}$$

then d is a section over X through a.

LEMMA 5. Let T,  $T_1$  be as in Lemma 2. Let  $\mathcal{F}$ ,  $\mathcal{G}$  be two sheaves over T and let  $\beta\colon \mathcal{F}\to \mathcal{G}$  be a monomorphism which induces an isomorphism of stalks over  $x\in T-T_1$ . If the induced homomorphism  $\beta\colon H^0(T,\mathcal{F})\to H^0(T,\mathcal{G})$  is an epimorphism and  $\beta\colon H^1(T,\mathcal{F})\to H^1(T,\mathcal{G})$  is a monomorphism, then  $\beta\colon \mathcal{F}\to \mathcal{G}$  is an isomorphism.

Proof. We have the following exact sequence:  $0 \to H^0(T, \mathcal{F}) \to H^0(T, \mathcal{G}) \to H^0(T, \mathcal{G}) \to H^0(T, \mathcal{G}) \to H^1(T, \mathcal{G}) \to H^1(T, \mathcal{G}) \to H^1(T, \mathcal{G}) \to H^1(T, \mathcal{G})$ . Thus  $H^0(T, \mathcal{G}|\beta(\mathcal{F})) = 0$ . But  $\mathcal{G}|\beta(\mathcal{F})$  has its support in  $T_1$ , whence, from  $\mathcal{G}|\beta(\mathcal{F}) = 0$ , i.e.,  $\mathcal{G} = \beta(\mathcal{F})$  and  $\beta$  is an isomorphism.

LEMMA 6. Let  $(E_r^{pq}, G^i)$ ,  $(F_r^{pq}, H^i)$ ,  $r \ge 2$ , be two cohomological spectral sequences such that  $E_2^{pq} = F_2^{pq} = 0$  for p, q = 1, 2, ..., n+1, where n is a fixed integer. Let  $\beta$  be a homomorphism of  $(E_r^{pq}, G^i)$  into  $(F_r^{pq}, H^i)$ .

Suppose that  $\beta\colon G^i{\rightarrow} H^i$  is an isomorphism for i=0,1,...,n and a monomorphism for i=n+1 and  $\beta\colon E_2^{00}{\rightarrow} F_2^{00}$  is an isomorphism for p=2,3,...,n+2 and an epimorphism for p=1. Then  $\beta\colon E_2^{00}{\rightarrow} F_2^{00}$  is an isomorphism for q=0,1,...,n and a monomorphism for q=n+1. Moreover  $\beta\colon E_2^{1.0}{\rightarrow} F_2^{1.0}$  is, in fact, an isomorphism.

Proof. Since  $E_2^{pq}=F_2^{pq}=0$ , for  $p,q=1,\ldots,n+1$ , we have the following commutative diagram with exact rows:

$$\begin{array}{c} 0 \to E_2^{1,0} \to G^1 \to E_2^{0,1} \to E_2^{2,0} \to G^2 \to E_2^{0,2} \to E_3^{3,0} \to \dots \\ \emptyset \downarrow & \downarrow \& \downarrow & \downarrow \& \downarrow & \downarrow \& \downarrow & \downarrow \& \\ 0 \to F_2^{1,0} \to H^1 \to F_2^{0,1} \to F_2^{2,0} \to H^2 \to F_2^{0,2} \to F_2^{3,0} \to \dots \\ & \dots \to E_2^{n+1,0} \to G^{n+1} \to E_2^{0,n+1} \to E_2^{n+2,0} \\ & \emptyset \downarrow \& \downarrow & \downarrow \& \downarrow \& \downarrow \& \\ & \dots \to F_2^{n+1,0} \to H^{n+1} \to F_2^{0,n+1} \to F_2^{n+2,0}. \end{array}$$

Hence  $\beta$ :  $E_2^{0q} \to F_2^{0q}$  is an isomorphism for q = 1, 2, ..., n and a monomorphism for q = n+1. Moreover,  $\beta$ :  $E_2^{1,0} \to F_2^{1,0}$  is an isomorphism and  $E_2^{0,0} = G^0$ ,  $F_2^{0,0} = H^0$ , whence  $\beta$ :  $E_2^{0,0} \to F_2^{0,0}$  is also an isomorphism.

THEOREM 2. Let X, Y, T be compact spaces and let  $f\colon X\to Y$ ,  $g\colon Y\to T$  be continuous onto maps. Let A be an abelian group. Let  $T_1$  be a totally disconnected subset of T. Suppose that, for every  $x\in T-T_1$ ,  $H^i(g^{-1}(x),A)=H^i(f^{-1}g^{-1}(x),A)=0$  for i=1,2,...,n+1 and  $H^0(g^{-1}(x),A)=H^0(f^{-1}g^{-1}(x),A)=A$ . Moreover, assume that:

 $f^*: H^0(Y, A) \rightarrow H^0(X, A)$  is an epimorphism,

 $f^*: H^i(Y, A) \to H^i(X, A)$  is an isomorphism for i = 1, ..., n,

 $f^*: H^{n+1}(Y, A) \rightarrow H^{n+1}(X, A)$  is a monomorphism.

Then, for every  $x \in T$ ,  $f^*$ :  $H^i(g^{-1}(x), A) \to H^i(f^{-1}g^{-1}(x), A)$  is an isomorphism for i = 0, 1, ..., n and a monomorphism for i = n+1. Moreover,  $f^*$ :  $H^*(Y, A) \to H^0(X, A)$  is, in fact, an isomorphism.

Proof. We shall use the notation of part 1 and Theorem 1. It follows from our assumptions and (11), (12), (15) that

 $a^*: G^0(J) \rightarrow G^0(\mathfrak{f}(I))$  is an epimorphism,

 $\alpha^*: G^i(J) \to G^i(f(I))$  is an isomorphism for i = 1, ..., n,

 $\alpha^*: G^{n+1}(J) \rightarrow G^{n+1}(\mathfrak{f}(I))$  is a monomorphism.

Moreover, for every  $x \in T - T_1$ ,  $\mathcal{H}^i(g(J))_x = H^i(g^{-1}(x), A) = 0$  and  $\mathcal{H}^i(\mathfrak{gf}(I))_x = H^i(f^{-1}g^{-1}(x), A) = 0$ , for i = 1, ..., n+1. Hence the supports of  $\mathcal{H}^i(\mathfrak{g}(J))$ ,  $\mathcal{H}^i(\mathfrak{gf}(I))$  are in  $T_1$  for i = 1, ..., n+1. From Lemma 2 and (13) we obtain  $G_2^{pq}(J) = G_2^{pq}(\mathfrak{f}(I)) = 0$  for q = 1, ..., n+1; p = 1, 2, ...

On the other hand, for every  $x \in T - T_1$ ,  $\mathcal{H}^0(g(J))_x = H^0(g^{-1}(x), A) = A$ ,  $\mathcal{H}^0(\mathfrak{g}_1^{\tau}(I))_x = H^0(f^{-1}g^{-1}(x), A) = A$  and by (10) and (14).

 $a^*: \mathcal{H}^0(g(J))_x \to \mathcal{H}^0(gf(I))_x$  is the identity isomorphism in every stalk ever  $x \in T - T_1$ . Therefore it follows from Lemma 3 and (13) that  $a^*: G_0^{p_0}(J) \to G_0^{p_0}(\bar{\mathfrak{f}}(I))$  is an epimorphism for p=1 and an isomorphism for p=2,3,... Now, from Lemma 6 and (13) we infer that  $a^*: H^0(\mathcal{H}^q(g(J))) \to H^0(\mathcal{H}^q(g(J)))$  is an isomorphism for q=0,1,...,n and a monomorphism for q=n+1.

By Lemma 4,  $g(\alpha): \mathcal{H}^q(g(J)) \to \mathcal{H}^q(gf(I))$  is an isomorphism for  $q=1,\ldots,n$  and a monomorphism for q=n+1. By the last part of Lemma 6,  $\alpha^*: H^1(\mathcal{H}^0(g(J))) \to H^1(\mathcal{H}^0(gf(I)))$  is an isomorphism. Therefore, by Lemma 5,  $g(\alpha): \mathcal{H}^0(g(J)) \to \mathcal{H}^0(gf(I))$  is also an isomorphism. Thus we have proved that  $g(\alpha): \mathcal{H}^i(g(J)) \to \mathcal{H}^i(gf(I))$  is an isomorphism for  $i=0,1,\ldots,n$  and a monomorphism for i=n+1. Therefore, for every  $x \in T$ ,  $g(\alpha): \mathcal{H}^i(g(J))_x \to \mathcal{H}^i(gf(I))_x$  is an isomorphism for  $i=0,1,\ldots,n$  and a monomorphism for i=n+1. This, by (10) and (14), gives the theorem.

COROLLARY 1. Let U be a locally compact topological space, let  $X_1, X_2$  be two compact extensions of U and let A be an abelian group. Let  $f\colon X_1 \to X_2$  be a continuous map which is the identity on U. Then  $f^*\colon H^i(X_2,A) \to H^i(X_1,A)$  is an isomorphism for i=0,1,...,n and a monomorphism for i=n+1 if and only if, for any connected component  $Y_1$  of  $X_2-U$ .



 $f^*$ :  $H^i(Y_1, A) \rightarrow H^i(f^{-1}(Y_1), A)$  is an isomorphism for i = 0, 1, ..., n and a monomorphism for i = n+1.

Proof. Let  $X_2^*$  denote the topological space obtained from  $X_2$  by regarding each connected component of  $X_2-U$  as a single point.

Take  $X = X_1$ ,  $Y = X_2$ ,  $T = X_2^*$ , f = f, let g denote the canonical map  $X_2 \rightarrow X_2^*$ , let  $T_1 = g(X_2 - U)$  and apply Theorem 1 and Theorem 2.

Let  $U, X_1, X_2$  be as above, let  $\beta U$  be the Čech-Stone compactification of U and let  $f_1, f_2$  be the canonical maps  $f_1: \beta U \to X_1, f_2: \beta U \to X_2$ . Eilenberg, Kuratowski [2] and Skliarenko [4] proved that if

$$f_1^*: H^0(X_1, A) \to H^0(\beta U, A)$$
,

$$f_2^*: H^0(X_2, A) \rightarrow H^0(\beta U, A)$$
 are epimorphisms and

$$f_1^*: H^1(X_1, A) \to H^1(\beta U, A)$$
,

$$f_2^*: H^1(X_2, A) \rightarrow H^1(\beta U, A)$$
 are monomorphisms,

then  $f_1$  induces a homeomorphism of  $(\beta U)^*$  onto  $X_1^*$  and  $f_2$  induces a homeomorphism of  $(\beta U)^*$  onto  $X_2^*$  (where  $(\beta U)^*$ ,  $X_1^*$ ,  $X_2^*$  denote the topological spaces obtained from  $\beta U$ ,  $X_1$ ,  $X_2$ , respectively, by regarding each connected component of  $\beta U - U$ ,  $X_1 - U$ ,  $X_2 - U$  as a single point). In fact, this result can easily be derived from Corollary 1. Let us denote by h the canonical homeomorphism of  $X_1^*$  onto  $X_2^*$  obtained in this way. For U, as above, let  $H_1^t(U,A)$  be the ith Čech cohomology group of U with coefficients in A defined by using finite open coverings.

Moreover, let U be normal. Then  $H_{\mathfrak{f}}^{\mathfrak{f}}(U,A)=H^{\mathfrak{f}}(\beta U,A)$ . The following proposition is easily obtained from the above considerations and Corollary 1.

PROPOSITION. For  $U, X_1, X_2, h$ , as above, if the canonical homomorphisms  $H^i(X_1, A) \rightarrow H^i_f(U, A)$ ,  $H^i(X_2, A) \rightarrow H^i_f(U, A)$  are isomorphisms for i = 1, ..., n, monomorphisms for i = n+1 and epimorphisms for i = 0, then the connected components of  $X_1 - U, X_2 - U$  corresponding under h have isomorphic i-th cohomology groups for i = 0, 1, ..., n.

Remark. Using a similar method to that used in the proof of Theorem 2 one can prove the following theorem.

THEOREM 2'. Let  $X, Y, T, f, A, T_1$ , be as in Theorem 2. Suppose that, for every  $x \in T - T_1$ ,  $H^i[g^{-1}(x), A] = H^i[f^{-1}g^{-1}(x), A] = 0$ , for i = 1, 2, ..., n+1 and  $H^0[g^{-1}(x), A] = H^0[f^{-1}g^{-1}(x), A] = A$ . Moreover, assume that

$$f^*: H^0(Y, A) \rightarrow H^0(X, A)$$
 is an epimorphism,

$$f^*: H^i(Y, A) \rightarrow H^i(X, A)$$
 is an isomorphism for  $i = 1, ..., n$ .

Then, for every  $x \in T$ ,  $f^*$ :  $H^i(g^{-1}(x), A) \to H^i(f^{-1}g^{-1}(x), A)$  is an isomorphism for i = 0, 1, ..., n. Moreover,  $f^*$ :  $H^0(Y, A) \to H^0(X, A)$  is, in fact, an isomorphism.

## References

- [1] E. Begle, The Victoris mapping theorem for bicompact spaces, Ann. of Math. 51 (1950), pp. 534-543.
- [2] S. Eilenberg and K. Kuratowski, Remark on duality, Fund. Math. 50 (1962), pp. 515-517.
- [3] A. Grothendieck, Sur qualques points d'Algèbre Homologique, Tohoku Math. Journal 9 (1957), pp. 119-221.
- [4] E. G. Skliarenko, Continuation of homeomorphisms, Dokl. Akad. Nauk SSSR, 141 (1961), pp. 1045-1047.
- [5] R. G. Swan, The theory of sheaves (mimeographed), Mathematical Institute, University of Oxford, 1958.

INSTYTUT MATEMATYCZNY POLSKIEJ AKADEMII NAUK
INSTITUT OF MATHEMATICS OF THE POLISH ACADEMY OF SCIENCES

Recu par la Rédaction le 14.6, 1962